[4/2/2019, 8:38 AM] Med Ahmed: ___ is the first longer row in the periodic table?

A. 2

B. 3

C. 4

D. 5

Ans: C

[4/2/2019, 9:09 AM] Med White Lion: Who proposed the law of triads

A. Dobereiner

B. Mendeleev

C. New land

D. Whittaker

Ans. A

[4/2/2019, 9:11 AM] Med White Lion: The properties of elements are a periodic function of their atomic .................

A. Mass 

B. Weight

C. Number

D. Position

Ans: C

[4/2/2019, 9:13 AM] Med White Lion: "The properties of elements are a periodic function of their atomic number" who proposed this law

A. Mendeleev

B. Rutherford

C. Thompson

D. Faraday

Ans: A

[4/2/2019, 9:47 AM] Alfa Ibrahim Med: Neutron was discovered by 

A. Dalton 

B. Thompson 

C. Chadwick

D. Rutherford

Ans: C

[4/2/2019, 9:51 AM] Alfa Ibrahim Med: Which of the following is not true of group one elements

A. They all contain s- orbital

B. They contain metals and non metals

C. They are all located in s-block

D.

Ans: C because helium is located p-block.

[4/2/2019, 10:07 AM] Alfa Ibrahim Med: Determine  the  number  of moles of  ammonia in 4.26g  of  ammonia (N =  14.0,  H =  1.0) weight :  2 option : 0.20mol answer : 0.25mol option : 1.20mol option : 1.25mol

[4/2/2019, 10:10 AM] Alfa Ibrahim Med: Who proposes dispersion of light

A. Faraday

B. Einstein

C. Plank

D. Newton 

Ans. D

[4/2/2019, 10:10 AM] Alfa Ibrahim Med: The wavelength of light is 3.146*10^15. Find the energy of the light

[4/2/2019, 10:12 AM] Alfa Ibrahim Med: The frequency of light is 4.5*10^-12hertz, find the energy

[4/2/2019, 10:12 AM] Alfa Ibrahim Med: The  shape  of the  S  orbital is weight :  2 option : Circular option : Planar option : Tetrahedral answer : Spherical

[4/2/2019, 10:15 AM] Alfa Ibrahim Med: Which of the following reactions represents a zero-order reaction? a. Reaction A: k = 2.3 M-1s-1 b. Reaction B: k = 1.8 Ms-1 c. Reaction C: k = 0.75 s-1 d. Reaction D: k = 0.87 Ms-2

[4/2/2019, 10:15 AM] Alfa Ibrahim Med: 9. The half-life of radon-222 is 3.8 days. A sample of radon-222 is allowed to decay for 15.2 days and after this time, 5.6 mmol remained. What was the initial quantity of radon-222. a. 45 mmol b. 0.90 mol c. 0.090 mol d. 0.045 mol 

Ans: C

[4/2/2019, 10:19 AM] Alfa Ibrahim Med: The decomposition of dimethylether at 504 oC is first order with a half-life of 1570 seconds. What fraction of an initial amount of dimethylether remains after 4710 seconds? (a) 1/3 (b) 1/6 (c) 1/8 (d) 1/16 (e) 1/32 

Ans: C

[4/2/2019, 2:20 PM] Alfa Ibrahim Med: Which of the following subarticle is the heaviest

A proton 

B. Neutron 

C. Electron 

D. 

Ans: B

[4/2/2019, 2:22 PM] Alfa Ibrahim Med: Which of the following is charged 

A. Alpha 

B. Beta 

C. Gamma 

D. A and B

Ans: D

[4/3/2019, 7:22 AM] Ahmed- Physiology: Who left space for undiscovered element in his periodic table

A. Dobereiner 

B. Mendeleev

C. Newland

D. None of the above

[4/3/2019, 9:11 AM] Alfa Ibrahim Med: B 

Ans: Eka silicon and eka aluminum
